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Reading comprehension
Read the text and answer the following questions.

Junk Food (Fast Food) can be defined as any food that contributes little or no
nutrient value to the diet, but instead provides excess calories and fat. Nowadays,
there are millions of fast food restaurants in the world that offers their costumers
plenty of different meals with a special price. Fast food can be a good way to save
time ,but it is not the proper way for nutrition. Researchers found that eating fast
food meals more than twice a week was associated with double the risk of
abnormal glucose metabolism. Also, those products cause a great gain in weight
and may cause many heart diseases. Burgers, French-fries, soft drinks are just a few
examples of junk food. Fast food refer to any poor nutrition food that is easily
prepared.

Fast food may include chips, hot pies ,pasties, sandwiches, burgers, croissants,
kebabs, pizzas, chicken, soups, and salads. It also includes drinks, for instance,
milkshakes, and soft drinks. Junk food is a slang word for foods with limited
nutritional value.

Every person has their own list of foods that they call junk foods. | would include
foods that are high in salt, sugar, fat or calories and low nutrient content. Salted
snack foods, candy, gum, most sweet desserts, fried fast food and carbonated
beverages are some of the major junk foods. Generally, they offer little in terms of
protein, vitamins or minerals and lots of calories from sugar or fat. The term
"empty calories" reflects the lack of nutrients. Rather than taking a radical
approach and banning all but the simplest foods, judge each food based on the list
of ingredients and Nutrition Facts label found on packages.

When reading the list of ingredients, look for sugar, fat or salt as one of the first

three ingredients. If any of these are listed that high in the ingredients, you can

probably consider that food to be too high in sugar, fat or salt. A look at the

nutritional information on the label will list the number of calories per serving,
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grams of fat, sodium, cholesterol, fiber and sugar content. This nutritional
information will make you more knowledgeable in selecting foods to reduce your
nutritional health risk. Calorie content of 300 calories per serving or less is
considered to be all right, except whole meals unless you are following a weight
loss diet. Be cautious though as to how large a serving size is. If 4 ounces of yogurt
is a serving size and you eat an eight-ounce container, you have doubled the calorie
content. Sometimes, the package serving size is not how little you serve yourself!

Comprehension

1. Circle the right definition of fast food according to the passage. [1]

Food that can be eaten fast

Delicious food

Food with no nutrient values

. None of these

2.The following statements are wrong correct them with details from the text. [2]

aoos

a. Eating fast food twice a week doesn’t have negative health effect.

Researchers found that eating fast food meals more than twice a week was
associated with double the risk of abnormal glucose metabolism. Also, those products
cause a great gain in weight and may cause many heart diseases.

b. the ingredients labels found on the packages are not useful.

This nutritional information will make you more knowledgeable in selecting foods to reduce
your nutritional health risk.

3.Find two disadvantages of fast food in the text. [2]

a. double the risk of abnormal glucose metabolism

b. cause a great gain in weight and may cause many heart diseases




4. What'’s the purpose of the text? [1]
The purpose is to inform

5.Find two pieces of evidence to show that the writer doesn’t encourage eating fast
food. [1]

Fast food can be a good way to save time, but it is not the proper way for nutrition .

Generally, they offer little in terms of protein, vitamins or minerals and lots of calories
from sugar or fat .

6. How do you find the evidence that the writer is using in the text? Explain your answer. [1]

The evidence that the writer | using is very useful.

Section B Grammar

1. Change the following sentences from passive to active and from active to passive. [3]

a. These machines are used to mix the ingredients.
They use the machines to mix the ingredients.

b. The restaurant was renovated in 2004.
They renovated the restaurant in 2004.

€. The teachers informed the students that the class had been cancelled.

Students have been informed that the class was cancelled.

2. Write the verb moods in the following sentences. [3]
1. Mabel made a delicious broccoli pizza. declarative
2. Did you go sledding at the golf course? Interrogative
3. If  were you | would call her tonight. Subjunctive
3. Write sentences following the instructions. [3]
Imperative




Declarative.

Subjunctive

C.

4. Underline the adjective clause in the following sentences. [2]

a. | consoled Neville, who had failed in the exam.

b. The apartment where | lived three years ago is being renovated now.

5. Write the function of the underlined clause on the line. [2]

O]

. Some people say that attitude defines our life. object

b. How our family got here is a long story. subject

6. Use the appropriate clause to get meaningful sentences. [3]

a. Whoever secures the maximum votes wins the election.

b. He always complains about what Mary does.

c. The channel gives whoever wins the quiz show a ticket o Paris.
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Section C Vocabulary

1. Use the following words to fill in the blanks in the following text.( There is one extra
word).

{ Mandates / justifiable / rational / implement / impose/ intervene }

1. You impose too much on me, and I'm so tired.

2. He tried to implement a new economic policy.

3. The rational and the irrational complement each other. Individually, they are far

less powerful.

4. Whether mercy killing is justifiable is still an open question.

5. Justice mandates that we should treat all candidates equally.

2. Write sentences using the following words.

[ Exemption / dictate / impose / principle /status quo }




Writing : An argumentative essay.
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Grade 8 Math Revision Packet Answer Key

1) a.) 6a?b? b.)5d% —4f3

2) 3m.m—2.n.n.n

3) a®+5b*

4) 13

5) a)2(b—-c) b) % c) 3(8+n)
6) a.) 5a+5 b.) 2x?

7) a) —12m°® b)) —12a?%b3

3a?
2 b.) e

8 a) m
9) 7x+4
10) 5x + 1, when x = 7, is equal to 36.

11) 12m? + 18m + 6

12) 49x° — 28x + 4

13) b2+ b — 30

14) 16a? — 81

15) 9d? + 48d + 64

16) -32p% + 28p — 6

17) 100a? — 140a + 49

18) 48h? + 48gh — 1592

19) a) % b.) 0.4 c.) 40%
20) 0.14 and 14%

21)a) 1,800 b.) 930 c) 108
22) 45

23) 110

24) 48



25) 1,200

26) 72%

27) 150%

28)a.) 90 b.) 180 c.) 120

29)a.) 33.33% b.) 40% c.) 35.33% d.) 20%
30) 43 students

31) Science which 87.5% is greater than Math which is 86%
32) 5% drop or decrease in the selling price

33) 54 students

34) a.) % = 40% b.) 23—0 =15% c) % = 25% d.) 2‘*—0 = 20%

35) a.) discountis BD 130; discounted price is BD 520 b.) discountis BD 175; discounted price is BD 525

c.) Store A has a better deal since BD 520 < BD 525.



l. Choose the correct answer and circle it.

1. Homologous chromosomes separate during which phase of mitosis.
A. Anaphase | C. metaphase |
B. Anaphase Il D. metaphase Il

2. Which describes cells that have only one copy of chromosome?

A. Diploid C. homologous
B. Haploid D. zygote
3. Which results in genetic variation?
A. Cloning C. sexual reproduction
B. Fission D. vegetative reproduction

4. The Punnett square below shows a cross between a pea plant with yellow seeds (Y)

and a pea plant with green seeds (y).

Y Y
Yy |y

P4

@ [y Y
y| 7 Y

If mating produces 100 offspring, about how many will have yellow seeds(Y)?

A. 25 C.75
B. 50 D. 100

5. Where does the process of transcription occur?
A. Cytoplasm C. cell nucleus
B. Ribosomes D. outside the cell

6. Which process makes a copy of a DNA molecule?
A. Mutation C. transcription

B. Replication D. translation



7. Which term describes multiple genes affecting the phenotype of one trait?
A. Codominance C. incomplete dominance
B. Blending inheritance D. polygenic inheritance
8. Which is true of an offspring with incomplete dominance?
A. Both alleles can be observed in its phenotype.
B. Every offspring shows the dominant phenotype
C. Multiple genes determine its phenotype
D. Offspring phenotype is a combination of the parent’s phenotype.
9. An automatic movement in response to a signal is called a
A. Hormone C. neuron
B. Muscle D. reflex
10.Which two systems work together to make your body move?
A. Digestive system and skeletal system
B. Lymphatic system and digestive system
C. Nervous system and excretory system
D. Skeletal system and muscular system
11.Which body system removes carbon dioxide and waste?
A. Circulatory C. excretory
B. Digestive D. lymphatic
12.Which is not a type of blood vessel?
A. Artery C. spleen
B. Capillary D. vein
13.Which structure moves water through plants?
A. Chloroplast C. nucleus
B. Mitochondrion  D. xylem
14.Which organelle is the site of photosynthesis?
A. Chloroplast C. nucleus
B. Mitochondria D. ribosome
15.Which is the product of cellular respiration?
A. ATP C. oxygen
B. Light D. sugar



16. Seedless plants grow from
A. haploid spores
B. Diploid spores
17.Which two plant hormones increase the rate of cell division?
A. Auxins and cytokinins
B. Cytokinins and giberellins
C. Ethylene and auxins
D. Gibberellin and ethylene
18.Which body system provides protection from infection and toxins?
A. Circulatory system
B. Digestive system
C. Excretory system
D. Lymphatic system
19.What role alveoli play in the body?
A. They form urea
B. They produce lymphocytes
C. They connect the right atrium to the right ventricle
D. They move oxygen into the circulatory system.
20.1n which part of the digestive system does the absorption of nutrients occur?
A. Esophagus
B. Liver
C. Small intestine
D. Stomach

Il. Answer as directed.
1. Differentiate between haploid and diploid cells.
Haploid cells are cells that have only one chromosome from each pair.

Diploid cells are cells that have pairs of chromosomes



. Explain what happens during each phase of meiosis Il

Prophase Il Nuclear membrane breaks apart

Metaphase Il | Sister chromatids line up along the center of the cell

Anaphase I Sister chromatids of each chromosome begin to separate and

are pulled to the opposite ends of the cell

Telophase Il | Nuclear membrane forms and cytoplasm divides.

. Compare meiosis and mitotic cell division

Characteristic Meiosis Mitosis
Both the parent cell are diploid diploid
Number of division of 2 1
nucleus

Chromosome number in 4 2
daughter cells

. Write any two advantages and disadvantages of sexual reproduction.
Advantages: genetic variation, selective breeding

Disadvantages: takes time and energy, takes time to mature

. Organize — copy and fill in the graphic organizer below to list the different types of

asexual reproduction.

Asexual

reproduction

Answer — fission, budding, vegetative reproduction, animal regeneration




6. Differentiate between dominant and recessive traits.
Dominant trait- A genetic factor that blocks another genetic factor is called a
dominant trait.
Recessive trait- a genetic factor that is blocked by the presence of a dominant

factor is called a recessive trait.

7. Complete and analyze the Punnett square.
a. R represents round seeds; r represents wrinkled seeds
R r
RR Rr
rR rr

Ratio of phenotypes: 3:1
Ratio of genotypes: 1:1:2
Percent of offspring with round seeds: 75%

Percent of offspring with wrinkled seeds: 25%

b. In cabbage butterflies, White wings are dominant to yellow wings. If a Ww
butterfly is crossed with a ww butterfly, what are the possible genotypes and

phenotypes of the offspring and the percent chance for each?

W W

Ww ww

Ww ww

Percent of offspring with white wings: 50%

Percent of offspring with yellow wings: 50%



8. ldentify the types of mutation happening in a DNA molecule from the given figure by

comparing it with the original DNA.

Original DNA

Substitution

insertion deletion

9. Describe the role of each structure labeled in the given respiratory system.

A- Trachea connects pharynx to the bronchi.

B- In alveoli exchange of gases takes place

C- Diaphragm contracts and relaxes when air enters and leaves the lungs

D- Lungs contain bronchi

10.Mention two types of diseases with examples.

Infectious diseases

Non-infectious diseases

Are caused by pathogens and are
contagious (spreads from one person
to another)

Example- cold, flu, AIDS, chicken pox

Are caused by the environment or
genetic disorder and are non-
contagious.

Example- cancer, diabetes, heart

diseases, allergies




11.Write two types of bones.
Compact bone is the hard outer layer of bone.
Spongy bone is the interior region of bone that contains many holes.
12.What are hormones?
Chemical signals released by the organs of the endocrine system are called
hormones.

13. Sequence the route that gases follow during respiration

nose (or mouth)

oxygen

Spxo|p uogied >

N

Pharynx

Trachea
Bronchi
Alveoli
diaphragm
14.Name the materials taken in and given out during photosynthesis.
Taken in — sunlight. Carbon dioxide, water
Given out — sugar, oxygen _
15.Why is photosynthesis important?
Plants produce most of the oxygen during photosynthesis which is very
important for life.
16.What is photoperiodism? Name three important types of photoperiodism and give
examples for each.
Photoperiodism is a plant’s response to the number of hours of darkness in
its environment.
Long-day plants: plants that flowers when exposed to less than 10-112 hours

of darkness. Example- carnation



Short-day plants: these plants require 12 or more hours of darkness for
flowering.

Example- poinsettia

Day-neutral plants: these plants are not affected by number of hours of
darkness

Example-rose

17.How is the plant on the left responding to the pot being placed on its side?

k)
’A,
N

This is due to process called gravitropism where stem grow away from gravity
and roots grow toward gravity.

18. List the plant hormones and describe the effect of each on plants.

Hormone Effect on plants

auxins Increased plant growth

ethylene Ripening of fruits

Gibberellins and Increases the rate of cell division
cytokinins

[I. Answer as directed.
Label the parts of the following figure.

a.






Label the
diegram of the
digestive
system.

For labelling refer text book pages — 294, 234, 232
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Texte / questions

Chaque matin, je me réveille de bonne heure et je fais ma
toilette: je me lave le visage, je me brosse les dents, je me
peighe, je mhabille. Ensuite, je prends le petit déjeuner: du lait
aux céréales et une tasse de chocolat,

A sept heures trente je pars pour |école. Dhabitude je
prends le bus mais le vendred: je vais a pied.

A lécole - pas le temps de mennuyer : je lis, jécris, je fais
des problémes. Jaime beaucoup le francais, la géographie et
histoire.

Je rentre & la maison d 13 heures. Je prends le déjeuner
puisa je me repose.

L'aprés-midi, je fais mes devoirs, ensuite je wais dans le
parc ol je me rencontre avec mes amis.

Le soir, je lis un peu, je joue sur fordinateur ou je regarde
la télé. On dine, je prends un bain puis je me couche 10t parce que
le lendemain jai une qutre journée trés chargée

ﬁ:& ﬁtz’&wem Labidz

JJJ. 1




Choisis la variante correcte:

1) Chague matin, Marcel se léwe:

] tard

] tot
2 )Aaprés qu'il fait sa toilette, Marcel prend:

[ le dé jeunar

[ le petit déjeunaer

[ le diner
3) Marcel part pour I'école:

[ & sept heures et quart

1 2 sept heures et demie

A sept hewres maoins le guart

4% A I'école, Marcel:

[ s'enmuics

1 ne s'ennuie pas
5% Marc=| rentre a la maison:

& treize heures

] @« une heure Treize

6) qu’est -ce qu’il mange Marcel au petit déjeuner ?
Du lait au cereale et une tasse de chocolat

7). Comment il va a I’école ?

Il prend le bus, le vendredi il va a pied

8) que fait-il I’apreés-midi ?

* il fait ses devoirs

* il va au parc

9) Complete la phrase

Le soir, Marcel lit un peu, il joue avec son ordinateur il prendun bain et il se
couche tot

ﬁ:&. ﬁtz’&wem Latid? 792




Vocabulaire

iennes

i

1. Ecris la phrase correcte pour les routines quot

Elle prend une douche

Elle se lave

IIIII

Elle se leve

lllll

Elle prepare le petit dejeuner

Elle se peigne

[———

Elle seche ses cheveux

e e e

o T

Elle fait son lait

b,

Il s’habille

s

Il prend le petit dejeuner

S92

JZ:J. ﬂtz’w.fem Labidz




t

1 convien

2. Ecris le verbe qu

£l

faire ses dewvoirs; déjeuner

prendre un bain; rentrer a la maison; aller au li

-
Ed

attendre le bus;

étudier; diner

Dejeuner

Etudier

Attendre le bus

Diner

Faire ses devoirs

Aller a I'ecole

Aller au lit

Prendre un bain

LI %

ﬂ:&. ﬂtz’mfem Labidz




3. Associer les phrases aux images

elle prend son petit déjeuner / elle se couche // elle va au travail // elle se léve /
elle fait des courses // elle brosse ses dents // elle travaille // elle fait du vélo //
elle fait du sport

s K
L KN
“d

- {

ﬂ;ﬁ Jbtissem Labidi L9 5




4. Mets les phrases en ordre pour trouver les routines

e Prends // je//le matin// une douche
Le matin je prends une douche

e Pendant //je // avec //joue // mes amis // la recréation
Pendant la recréation je joue avec mes amis

e Lebus//pour //j’attends // al’école // aller
J’attends le bus pour aller a I’ecole

e Sors //de// je// moi // aneufheures// chez/
Je sors de chez moi a neuf heures

e Fait // des //elle // courses
Elle fait des courses

e Elle // une soupe // le soir // prépare// elle // puis // se couche
Le soir, elle prepare une soupe puis elle se couche
Grammaire

1. Conjugue les verbes correctement

0 Je (regarder ) regarde la télévision

Mon frére ( jouer) joue avec son chien
Vous ( nager) nagez dans la piscine

Elles ( acheter) achéte des fruits au marche.

O O O O O

Les garcons ( écouter) écoutent de la musique

ﬁ:‘é‘. ﬁtz’&wem Labidz

Mon ami et moi ( participer) participons au match du foot.

L9 é




Vous ( monter) montez dans 1’autobus
Je ( télécharger) telecharge un film
Tu (voyager) voyages a Paris.

Ils (marcher) marchent sur le trottoir

O O O O o

Mon cousin (commencer commence un nouveau jeu vidéo.

2. Indique les types des phrases suivantes
% A qui appartient cette maison interrogatif
¢ Je parle au téléphone declaratif

¢ Quelle belle surprise exclamatif

+¢ Fais attention imperatif

3. Transforme a la forme négative

Forme affirmative Forme négative

Il veut aller a I'école. s
Il ne veut pas aller a I'école

Il a besoin de savoir lire et écrire. , : - o
Il n’a pas besoin de savoir lire et écrire

Les filles sechent les cheveux . .
Les filles ne sechent pas les cheveux

I mange des bonbons. Il ne mange pas des bonbons

Je recite un poeme . .
Je ne recite pas un poeme

Il fait un test .

Il ne fait pas un test

ﬂ:m Jbtissem Labidi 797




4. Construis des phrases ;

- Déclarative & ...,
- INeITOGAtIVE & oo e
- EXclamative @ .o

- IMPrative & ..o

Expression écrite :

1. Ecris un paragraphe décrivant la journée de M. Leo

. m

ﬂ;&. ﬂtz’w.fem Latid? 798
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Question 1: Instruction: Answer the questions given below based on your
knowledge about HTML.

a. What does HTML stand for?

Hyper Text Markup Language

b. What is the purpose of using html language?

To Design webpages

What are the requirements of HTML language?

Text Editor

C.
1.
2. Web Browser
3.

HTML Tags

Question 2: Write the closing tag for each of the following.

Opening Tag Closing Tag
<HTML> </HTML>
<H1> </H1>
<HEAD> </HEAD>
<BODY> </BODY>

Page 1




Question 3: Write the suitable HTML tags to display each of the following.
a. Create a webpage that prints your name to the screen.
<HTML>
<BODY> My name is Zainab </BODY>
</HTML>
b. Create a webpage that prints the numbers 1 - 3 to the screen.

<HTML>
<BODY>
<P>

1

<BR>

2

<BR>

3

<BR>
</p>
</BODY>
</HTML>
c. Create a webpage and set its title to "This is a webpage".

<HTML>

<H1> This is a wepage </H1>
</HTML>

d. Print your name in green.
<HTML>

<BODY>

<p> <font color="green”> My name is Zainab </font>
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</p>

</BODY>

</HTML>

e. Prints your name in a Tahoma font.

<HTML>

<BODY>

<p> <font face="Tahoma”> My name is Zainab </font>
</p>

</BODY>

</HTML>

f. Create hyperlinks to various search engines (google, yahoo etc).
<html>
<body>

<h2>HTML Links</h2>

<p>

<a href="https://www.google.com/">Google</a>

<BR>

<BR>

<a href="https://maktoob.yahoo.com/?p=us&guccounter=1">Yahoo</a>
</p>

</body>
</html>
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g. Display two different images. Skip two lines between each image. Each
image should have a title.
<html>
<body>

<h2>HTML Image</h2>

<img src="img_girl.jpg" alt="Girl in a jacket">
<BR>

<BR>

<img src="pic_trulli.jpg" alt="Italian Trulli">

</body>
</html>

h. Display an image that has a border of size 2, a width of 200, and a height of
200.

<html>
<body>
<h2>Image Size</h2>

<img src="img_girl.jpg" alt="Girl in a jacket" border="2" width="200"
height="200">

</body>

</html>
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Question 4: Determine the output displayed for each of the following.

a.

HTML Code

Output

<HTML>

<HEAD>
<TITLE>Basic</TITLE>
</HEAD>

<BODY>

My name is xxx
</BODY>

</HTML>

Basic
My name is xxx

HTML Code

Output

<HTML>

<HEAD>

<TITLE>Text sizes</TITLE>
</HEAD>

<BODY bgcolor=" RED">
<H1>Test heading 1</H1>
<H2>Test heading 2</H2>
<H3>Test heading 3</H3>
<H4>Test heading 4</H4>
<H5>Test heading 5</H5>
<H6>Test heading 6</H6>
</BODY>

</HTML>

The background is red

Page 5




Question 5

Use the internet to search for information about Bahrain National Chrter, and

design a webpage using HTML Language with the following requirements.

No. Requirement
1 Appropriate title as a header
2 Change the following in the header:
Font color and alignment
The head should be bold.
3 3 paragraphs with a break of two lines between each of them
4 Change the following in each paragraph:
Font size, color, face and alignment.
5 Create a menu
6 Change the background color to any color of your choice OR Insert a
background image
7 Insert two Images
8 Change the following for each image:
Width and height
9 Insert two hyperlinks
10 Save as type HTML
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